FH ALK E A SR WL NS LR

CEEE R ERAE R ERRARE Y S

— I (1 E SR ERETRERTHY F A IR
B0 FMELET (12%) (=)= TEET 3 x5 MR T 5

A B 8 A A - R R A8 B - AR - (130

- wmEHEanAEsRRSETHLREY (Lrban

——

Transform and Evolution} Z % iy — X7 WHLE A =] i) 7R

B+ (25%)
= . IR A -EARR AU R LTS - BETA T
{Carrying Capacity) w4 AT (Constraled

Development § &9 % & —2 7 A kgmag AR R ( Sustalnable

Development ) #%r = (295D
o ()L (Globalization) B E AR A E EREEN

B 7 (Bh) (oL ARERHAERMTER Y (B (=)

23 b A b e B e Bl 285 LA R4 - {8




